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Base your answers on what you studied in | sLo¥13slo -8 Cew)s Lo g 5 -2

Biology: L AGY ) A (e o
1- Choose only one question (A) or (B) @3 () 91 (1) o3t Al pi5nf = )
and then write its scientific term: 1 polall pllaqaal | CGS|
A) A deep depression into which the head | -5l detae gl 4 i g (1)
of the thigh bone. Oelliie (ulad US (G A3Luad ()
. : Aalaiol| Caalio B 53 Z
B) The distance between each successive ! e Bagzsall (£)
. At
two Z -lines. )

2- Choose only one question (A) or (B) then | 3 (<) 9 (1) o=t gud ) dsmi pliset - ¥

mention the site and the function of it. s Aadagh g 3LSat) ,S3!

A) Tube nucleus. %es;gﬁ" 31531 (1)

B) Corpus luteum. o) i ()
The site ;s The Function aagsgn
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3- Choose only one question (A) or (B) @3 () 91 (1) ot 3t A § pisnl - ¥
and then define any of them. 14 dguadall Lo g
A) Interleukins. ols o ¥ (1)
B) Agglutination. 033 ()

4- Choose only the right answer of the Lae a8 A suuall dala Wiy is) - ¢
following: yan
During the formation of the ovum, 2 ALLE Y| ity Slias gd| (a5 s
meiosis division takes place in ........ | ... o2 L (G guel!
@ Multiplication phase. REVSRLTE YRGS @
(b Growth phase. PTG @)
(©) Metamorphosis phase. e il e (D)
@ Moment of fertilization. olas ¥ Atas @
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5- Give reason for: b let Jle - 0
The antigen binding sites structure limits | ¢ sbeas g IS paass sy

the specification of each antibodies. S epumi W doLid W1 a8 90 oS 53

6- What would happen if: s e Gty 13Le - 1
Absence of DNA — ligase from the living St LA (B day o1 o351 6 Lt
cell.
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7- The figure below shows genital organs | Julial dsi g AL IS - V

of a living organism, look at it then S SLOISH A (58 Aot
answer the following: P AGY ) AL (e conl Gl ¢ 95 2
1*Y) What does the structure no. (1) $(1) o8y oS | A et (5201 L < ¥

represent? and where is it?
2") What is the name of (X) cells? How it

S 92 (g
AL S g §(Lw) LM ewl Lo Lol

transfer?
8- Compare between the following: LBy (BL (e Lo gl (o (pLB - A
The two vas deferenses & The two S(Aads gl Cos (po) igtle

fallopian tubes (Concerning the Function)

The two vas deferenses The two falopian tubes
OMBLI sl gt glla il
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9-“The 15 types of amino acids participate
in the synthesis of polypeptides that
is formed from 300 amino acids”.
Mention:

1*) Number of nucleotides that formed
on mRNA needed for building a
chain of polypeptides.

2") The number of codons on mRNA.

3') The least number of tRNA that
needed to synthesis this protein.

10- Choose only one question (A) or (B)
and then define it:

A) Semi-light area (H zone).
B) Neuromuscular junction.

oolex¥1 (e Lagh V0 & Tl -4
155 Lol e £ Ly (o2 Aiesad
1D (el e ¥t (e
53g>gall OIS gcdl sie ¥l
sia sl 2oy MRNA e
e e (ye Al
IMRNA e cbgsgstiaue Lol
A ERINA ¢157 o sie 37 <Gt

Ogrdtelid

@ (@) o) (1) o1 audt Ayt -\
149 Jguadel! Le HS3I
Aot as astaiat (1)
adiaall deuaatl Ao o (o)
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11- Choose only the right answer of the Lo dazd domual | Al 31 yid) - 1 )

following: yan
The primary immune response 1S SIOW | aig¥iaeliot auloia ¥ 5sss
due to ..... ot AR

@ Spreading microbes in the body tisSues. pusdtaowsi b oy jSeatt lacs! @

@ Decreasing the amount of antibodies. Baliaall plus Y1 daS pazs @
Decreasing the number of B and T Bu.s , B
T-lymphocytes. S i 1 @

@ Absence of B and T memory cells. a5 T Busis ce @

12- Explain the following: ro by Lo pud - VY

Could man have a child after his death Al dm i o OF Ja U Sy

(in scientific aspect). (solad| Bam i (30)

13- What would happen after: s ie Codong 13ke - VY
The treatments of some plants with sslas Slgliat¥ioas 2o tLacs
colchicine? § ol 531
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14- Write the scientific term:

Disease occurs due to disturbance
of thyroxin secretion in adult and
characterized by weight gain.

15- Mention two examples of living

organisms which have haploid somatic

cells (N).

16- Choose only one question (A) or (B)

and then compare between:

A) B- cells & T- cells (concerning its

ratio & maturation place).

B) Cytotoxic T-cells (Tc) & Suppression
T-cells (Ts) (concerning function).

e 1At elall atlaael| cSH -1 £
TG B ylat
A (et L e LS e pe WLy
BB N1 5T Ol e o B sl | il |
P Ao paall a3 gl el @al (e
ceuI O3

(Ol L (et peld eI lie 5 SHI - V0
Lagia 5T dcacuant! LoDt
cAdual! de gezmel| Aaslsi

kB @3 (&) 9 (1) ot guad | i 05 -\

st L (B) astabsisa

LIS ) At e (pa) (1)
(pad Olse g Lagin JS

(T'C) oslcatt Sl L1 - o

(T's) aagar astan LSty

-(Aads ol co (ya)
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17- Look at the following figure which o5 (SN I JSAT (paamdl - \V
explains one of genetic engineering A1 9l Awnigh OGS G|
technique, then answer the following: PASY) ALY je o ~
1*Y) What is the name of this process? SUSAIL Aomia gl Apleatl sl Lo+ ¥ gl
2") Mention the used enzymes in this wie Aeiiual) Sla ¥ g lols

technique? Al ois sl

AAGCTT AAGCTT
TTCGAA TTCGAA

AGCTT A

N /
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18- Explain the effect of each of the
following on human health (refer to
its symptoms):

1*Y) The hyposecretion of insulin
hormone.

2"9) The hypersecretion of growth
hormones in adults.

e b Les JS 50 g - VA
:M'}CGJS.A@QM}"
O 9 Y1 (s 90 50 31,81 B padid | Y g
B 9l Oga 0 51,01 B Bal Lol
-t L
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19- Choose only one question (A) or (B) @3 () 91 (1) Cnd3uad) i i3t - 14
and then write its scientific term: vdde JIAN elall mllaqel! HS
A) A Phenomenon takes place due to il e (s i35m0l -
the non-separation of the chromatids |t 2= Sl gt
after centromere division and failure | *b&3! 02855 pusg s gt

of membrane formation between the (O S [y oLt
two daughter cells. e aegema Jo ity DNA o

B) String particles formed when the gl lisia !l

DNA is wrapped around clusters of
histones.

20- Choose only one question (A) or (B) @3 () 91 (1) G 3uad) i yi3n0 - ¥ s
and then mention the importance: rdsenl s g
A Joaladd) - |

A) Fibrous joints.
Auaall JB1gd - o

B) Neurochemical transmitters.
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21- Choose only one question (A) or (B)
and then give reason for:
A) Formation of non endospermic
(exendospermic) seeds.
B) Sporogony is the best form of asexual
reproduction.

@3 () 9l (1) ottt s 2t - Y
1M
s o g3 ¥ 59003 (9983 -
I3 bl (e @Bl SIS o
. i AT SIS

22- What is the chromosomal number of
the following structure?
1®Y) Sporangium of Polypodium.

2") The infective stage of female
Anopheles mosquito.

23- Choose only the right answer of the

following:
The specific cells which secrete
histamines are .........

@ Mast cells and monocyte.
@ Neutrophils and phagocytosis.

@ Mast cells and basophils.
(@ Eosinophils and basophils.

P AGY COS 1A aualt suali Le - YY
2 5211 OLO (B da gt pond | ALaBLT -
Sl 931 Ao gy Y (Gumall jglatl Y

Leo Jadd Aovoall Al sl - YV
qar
dale j ol ! duawadial! LSS

51901 Bl 9 LM g A sleald | L ST

dcaald LSS (g Alalaiad | LTI @
?.\J‘ LMy dylall L @
oselal sl d)

oaclal LS dadaelod | LS
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24- Mention the conditions of DNA .DNA Gge ot dog i ;S0 - ¢
repair?
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25- This sequence illustrate the ol )5 g (T aaLiidy - Yo
arrangement of nitrogenous bases on a | 4> ol A 9,5t Aol galt

part of DNA strand: - DNA o aalad oy o
/ /
3ooooooTAT-GTG-GAG-TGA-ATToooooo 5
1%") Write the sequence of nucleotides CINUE FORT PURT [N ET T P
in the transcripted mRNA from this MRNA ¢ > aatas 2
strand of DNA molecule. o2 Aadaill 60y A geuicad|
29y write the number of amino acids in .DNA ¢~
the polypeptide chain that will be 8 Aa ¥l (olea ¥l sie sus (Ll
produced from this molecule. a3 s 301 (9 ) Al
gyl las (e
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26- Look at the figure below then answer | ge coi @ IE YA apst -Y1

the following questions: s AGY At

1*") What does this figure represent and G0 Lay SUSAT Aliey 201 La i ¥y
what does the structure no. (1) refer $(1) 5 oS i A i
to?

3(Y) P S 1 3503 leal Lo s Ll
2"d) What are the reasons for structure no.
(2) tearing and what are the symp-

toms of this tearing?

St 108 (ol pel oo Log

wjailleig ol



27- The following figure explains two of ot (ol T i 90 (T LYY S - YV
antibodies mechanisms. Clearly look -3aliaed! plua ¥ des SLAT
at it and then answer the following rob Les ol @0 St o)
questions: §pickonl | (il mul Lo ¥ gl
1*Y) What are the names of the two Logia IS Joe Bl gy 1 LalS
mechanisms?
29) Explain only the mechanisms of
both?

wwyjailledg o



28- Choose only one question (A) or (B)
and then give reason for:
A) The generative nucleus in the pollen
tube 1s divided mitotically.

B) In embryo of human, the sex becomes
differentiated in male before female.

29- Choose only the right answer of the
following:

Defect in the receptor CD, on the (T,)
cause losing its ability to ...............

@ Destruct the cells of bacteria.

@ Bind to the antigen —- MHC complex.
(©) Activate natural killer cells.

@ Secrete the interferons.

@3 (@) 91 (1) o3t ) s § p2n) - YA
e
Ag0l B Butgell 319t alwail - |
SL) gk Lalt!
OLud ¥ (-8 (et s jobel - @
SO JE LSl

Leo dadd Aomimuall Aol ¥l 205l - Y4

‘b
CD, dusianstt (pinp o2 J& Ei9im
3yt Lawady e luatt T LSS e

WU RITRVERTROoe
sl 1501 (i s oL Y1
.w‘ AGLAT LMY dacdcs

5l e Y1 51501
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rie Gidoms 13la - ¥

30- What would happen when:
sataatt ,a ATP cln o jaslis

Shortage of ATP molecules in the muscle?

e JIAl malal) mllaiael| CISH - ¥

31- Write the scientific term:
3 74,535" 3)‘.::."

Protein is secreted by the Lymphocytes
cells Tc to destroy foreign bodies by create
pores in its membrane.

daglaaddl oSt o), a5 (4G
alua ¥ e sliaatly pgai [ C atstar
LGS CodtE Ga sl (ye dug pal

plaall Ak Ligs Gl olas ud, - Y'Y
32033 i (me (90 0 i Ay
.(()'#i é}ﬁ)&

32- Bones fragility is caused by
Hypersecretion of one hormone
and hyposecretion of another one.
Mention these hormones. - o

<0 90yl (i HShI
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33- What would happen if:

The frog ova are exposed to heat and

electric shock.

role A el ! L Le - YV
dsoual Aoaiiall Sliags o el

Syl gl B S

34- Choose only one question (A) or

(B) and then compare between the

following:
A) Receptors & Phenols in plants.
B) Antigens & Immune receptors.

@3 (@) 91 (1) 13l ) s § ) - ¥ E
+ (i (LB
LOLAT B O gially O Mdiwal -
e Lad 1 O et 19 Oluoncd ¥ -0
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35- The following figure represents one of | Sluae dsi Jiay L YA - YO
the cell organelles. Look at it and then | 4w e cori @ duyal . ddsd

answer the following questions: skl
1*Y) What do no. (1) & (2) represents and | #(") <) g5 0 JS ez f3ke 3,
when they have bind together? $las Ol o ey

' o §35m ot Jalantl e ul Lo Lol
2) What is the name of the reactionin | < 7= o

which the peptide bond formation? T Blaal (953

36- What are the results of: 1008 JS (e A yalt L Lo - ¥

A)The woman becomes pregnant before | 2! s 348 8lell de -3

18 or after 35 years. Talu Yo pop ity

. 3 . Juolicn o8 Aendd ST Gl < Lsls
B) Absence of interstitial cells in male

. SOl ,Sh
genetic organs.
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37- Choose only one question (A) or (B) @ () 91 (1) ot 3udt Al yisel - YV
and then write its scientific term: vdde JIA elall mllaqel! HS3
Ay (S 05 s9a e a3 ¥ pasi -

A) Grouping of flowers on the floral axis
into various aggregations.

. . > RIS ddoda Ads 3190 I -0

B) Nuclei from embryonic cells were
removed and transplanted into

unfertilized eggs of the same species.

Acaie pud Ainig Blgs e

38- How can you obtain a double stranded | dossé le Jgaodt (-Say oS - YA
DNA from mRNA? ¢ MRNA (e 79230 DNA

wwyjailledg o



39-Compare between:

Scalariform conjugation and lateral
conjugation in Spirogyra. (Conditions of

thier occurance).

‘;-Q-LI-H-" C")—TJY‘C,_J_)CUQ-V*
Cdonds (8 miland) 31 )L B¥ 1
dogpls Cum (3a) o gt g s |

(Legin JS Srgut>

Scalariform conjugation

ebudt o1 BN

lateral conjugation
(Rl o1 BN

40- Choose only the right answer of the

following:

Sporozoites reproduce ..........

liver giving merozoites.

Sexually by gametes.

®O0eE

wwyjailledg o

in human

Sexually by conjugation.
Asexually by schizogony.
Asexually by sporogony.

Leo daZd Aovimual! Aala Wi 4%l - £+

ol
S (B Ol g)g g @uidis
NCTCTPSPRUDN [Fivet RIS Olua Y

gl Yl Cis @
AN L @
it luey
PR )




41-What would happen when:

The Thymosin hormone level decrease in

human?

s e Crdon 13 - £ )

2 Omwgard) (g pa 312 yadd

SOk ¥

42- Compare between: Lpld - gy
. . v . 5 a Slug) | | |
Ookinete and merozoites in the life cycle | 2 & Sesiarelly oSl okl
LMt pgas gD Bl

of Plasmodium (concerning: the origin
and chromosome number).

.(M‘AM‘)— LALZ.'«.»QP‘}&)

Point of Ookinete
comparsion Sl skall

Merozoites
Sl 959 pead!
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43-Choose only one question (A) or (B): () 9 (1) oot ol piont £ W
Explain by drawing a labeled diagram: | %% & 28 pu lbhzay o
+SBLedt
leine) ZIAU! A (395 Ul pe -
(e ¥ Aa gyt | AL
B) Human female genital system. LB 5] B Ll g |-

A) The stages of formation of pollen
grains.
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44- Look at the following figure then ol @ Elalel (GIT) JSET (sl - £ £

answer: PG AL e
1¥) What does the figure represent? TS dlie sl Le 3]

Ol gl bl wie Gisn Ihle Lol

2") What happens when absence of Ca™ | (V09 (1 )y 5 ST
ions from no. (1) & no. (2)? 05 g allhat
y ) (‘L) 9_5)'4 "4!424,!14_!_’245‘5;\_3|Ln AL
3Y) What does the area no. (6) represent? (6) B3 oot S (paBagmsally
4™ What does area no. (3) refer to? R [P

§(¥) Adkaiedl A s T Lo :Lasly

(€)) (©6) 3
FL\ ;
. | L
,_,_..--"""F“L.. T Ty
Q)] i -
et ST SR | e
@ e T _:—E
e
&) Q)]
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45- If the sequence of nucleotides on (e O 9.8 5.0 2L (IS 13) - €0
mRNA strand runs: 1S MRNA day oz

4 /
5 ooclooAUG_GCU_AAA_GCU_UGA-AAAAAoocooo 3
Mention: e Gligas<ll Glalias ST : ¥yl
1%") Write the anticodons that formed on ARNA a1 paemtt

tRNA. e Ae¥) polea¥l ane ol
2") The number of amino acids that is L 108 Bea 55
formed by the translation of this 08 O ¥ Gl i ooy fale < (0
sequence. PRy
3%) What would happen in the absence of
Adinine.
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